
RED HERRING
Four of the words must be entered into the grid, reading 
across, so as to create four more words, reading down. 
Can you spot the ‘red herring’?

SPOT THE DIFFERENCE
Can you spot eight differences between these 
two pictures? Circle them in the lower picture.

ONE TO NINE
Using the numbers below, complete these six equations 
(three reading across and three reading downwards). 
Every number is used once.

ONE TO NINE

5 x 3 – 8 = 7

+ + x
4 x 6 – 9 = 15

+ – +
1 x 2 + 7 = 9

= = =
10 7 79

RED HERRING

S L U B

E I R E

L A G S

F R E T

The red herring was SALT

SPOT THE DIFFERENCE

x – = 7
+ + x

x – = 15
+ – +

x + = 9
= = =
10 7 79

1 2 3

4 5 6

7 8 9
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